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Chose the correct answer for each of the following questions.

1- What is the current passing through a conductor with radius of
3.1x10° m, if the current density through this conductor is
5.2 A/m??

B2 A/m2 Sl iy Qsj J\gﬂ\ 4 ¢l \A;\ 3.1x10'3 m o# Clal Jaa ga B)EN JLJ\ @Lﬂ)@.ﬂ\ )Lgﬂ\ Dlasa L

A. 1.6x10* A
B. 3.5x103 A
C. 5.1x102 A
D. 2.2x10* A

2- How will the resistance of a copper wire change if its length is
tripled (without changing in its cross-sectional area)?

€ o pal) dnkiie dalie & s (50 adde (S Lo JUial 43306 4l sl ool 1) ol el daglia sl CaS

A. The resistance will decrease by 1/3

B. The resistance will increase by 3 times
C. The resistance will decrease by 1/9

D. The resistance will not change.

3- How will the resistance of a copper wire change if its cross-
sectional area is doubled?

Slal) alsha b 55 ()50 Adde ClS L i un yal dxdabe dalise el 13) usdad Gl o lie paiis (2

B. The resistance will decrease by 1/4
C. The resistance will increase by 4 times
D. The resistance will decrease by 3

4- How will the resistance of a copper wire change if its radius is
halved?

§la¥l sl b i3 (50 Adde IS La Gt ) oyl il il 13) o llis Ha glie i S

A. The resistance will increase by 2 times
B. The resistance will decrease by 1/2
C. The resistance will decrease by 1/4
D. The resistance will increase by 4 times
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5- How will the current that flowing through a copper wire change if
the radius of the wire is doubled?

S el ddsh 8y s ade IS L dnia oyl Caai Caclini 1) ulas @l & jlall L) dad juaiin oS

A. The current will increase by 2 times
B. The current will decrease by 1/2

C. The current will increase by 4 times
D. The current will decrease by #

6- What is the resistance of a silver wire (p=1.62x10% (Q.m), has a
length of 3.0 m and a radius of 52x107 m?

dxkia ki Ciaaiy 3.0 M Alsh <1.62x1078 ().m de sill 4o e Laill o g sias ll Do glis o L
52x1073 m o))

A. 5.7x10° 0
B. 3.4x10° Q
C. 2.6x10° )
D. 1.9x10° Q)

7- The 2.0 m length hollow silver tube shown in the figure has inner
radius of 2.0 cm and outer radius of 3.0 cm what is the resistance
of this conductor? (p=1.62x10% ().m)

ri=2.0 cm 3l Hhi Caaialy 2.0 m 4lsh duadl 33k (e ¢ siae JUE 8 Guall § il ) shnd) )
fia gall 138 dajlia & L r2=3.0 cm 2 la b Caaig

A. 1.0x10° N : 2.0m
B. 2.1x10% 5
C. 3.6x10° N
D. 44x10° N
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8- A Nichrome wire with length of 1.2 m and 1.0 mm radius is
connected to 12 V battery as shown in the figure, what should be
the ammeter reading? (The resistivity of silver is 108x10% (Om)

12 V b o 2ead) 38 4y Jsea 50 1.0 mm ekl cauais 1.2 m 4dsh a5 pSill 30l (40 g siaa el
108x1078 Om a5 S ellud e sill 2o gliall) € jinaal 56l 8 055 Of Camy 13 Lo (IS 3 Cpae 5 LS

A 29 A

B. 21 A @)

C. 19A

9- How will the equivalent resistance between the two-points (A, B)
changes, if we remove one of the resistors from the set shown in

the figure?

€ sill 138 8 83 5 sall il sliall (pa Bas) 5 W31 13) (AB) il (s IS o sliall ki (oS

Al

A. It will increase.
B. It will decrease.

R R R R
C. It will not change. 1§ 2§ 3§ "g

D. The given information is not enough to decide

Bl
10- How will the equivalent resistance between the two-points (A, B)
changes, if we remove one of the resistors from the set shown in

the figure?

€ sill 138 883 5 sall il gliall (pa Ban) 5 W3 13) (A, B) el (s RS Ao lial) ppaciias (i

A. It will increase.

A “MN—WN—WN—MWA— B
R

B. It will decrease. ) R, R, R,
C. It will not change.
D. The given information is not enough to decide
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11- What is the equivalent resistance of the circuit shown in the

figure?
SUSAN 8 Al 5_ylall ZS) da il Aad o Lo
Rl = 2.00 Q)
A 110
B. 2710
TG Q 110 V=
4 R, =3.00Q } R; = 6.00 Q

D. 530N

12- What is the potential drop through R3?

fR3 astiall JMA s¢all i Ja sl laie Le

A. 55 v Rl = 2.00 !l

B. 38V

C. 26V 110 V—=—F

D. 19V R, = 3.00 Q R; = 6.00 Q

13- What is the current through R1?

R1 asiall A L) Ll lska L

A 131A R, = 2.00 ()

B. 157 A

C. 275 A 110 V==

D. 326 A R, =3.00Q } R; = 6.00 Q

14- What is the equivalent resistance of the resistors in the circuit
shown in the figure?

TSN 3 Al 5 30l S T liall Fad L

R, = 400 Q)
A. 12 Q) AN
B. 520
C. 170 $R] =200 Q §R3 _
.8 6.00 Q)
D. 120 T
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15- What is the dissipated power in R1?

R1 e}l&d\ ‘?A 3a2ual) BJJH\ e La

R, = 4.00Q
A 11W AV
B. 23 W
C. 35 W %R] =200 Q) §R_,, _
D. 42 W V=1.500V _|_ 6.00 £

16- Two wires made from the same material, and have the same
resistance (Ri=R2), if the length of wire 1 is twice of the wire 2
and the cross-sectional area of wire 1 is 1.2x10°> m?, what is the
radius of wire 2?

el Aalie iS5 2 AL J sl iaaa 1 el sk (S 13) e siall i Legl s 33lall ki (g (e sicma (SLs
2 L)l Caai sk Le ¢ 1.2x1070 m2 (g5t 1 cllull

A. 1.4 mm
B. 2.8 mm
C. 3.5 mm
D. 4.1 mm

17- A 12.0 V battery with an internal resistance Ri = 4.00 () is
attached across an external resistor of resistance R. Find the
maximum power that can be delivered to the resistor.?

(R 4iaslia a)la o glis e dlia e (Ri = 4.00 () Aalall e slaa s 12.0 V' Lok O agal) 54 4 )l
Sostiall Ly s 35 4 jUall (Say Al alaall 3,080 Ao 2a

A 1L1W
B. 3.6 W
C. 57 W
D. 9.0 W
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18- Three different light bulbs are connected in series with a
battery that delivers a constant potential difference, Venm.
Which light bulb has the highest brightness?

058 zabiadll gl cculi aga (55 il 3535 Ay ey pe sl e A gan g A sliall Adlide mubiae 4330
fle o SY) atelin)

A. The bulb with the lowest resistance

B. The bulb with the highest resistance
C. The bulb with the highest current

D. All of them has the same brightness

=A[F
Vemt

19- A stretchable cylindrical copper wire has a length of L, if the
length of the wire is tripled how will the resistance change?
(Note: the cross sectional area will change when we stretch the
wire, but the volume will stay constant V=A.L)

e uaiie S adle (IS Lo Jlial 25306 bl J sl Lielia 13) L alsh ¢ shall 330 30 W 3 st ouilas el
(V=A.L Ul Gl ans s (815 e shall i Ay ellull oaim jal) aaiall dalise piciias ;Adaadla) $aia gl

A. The resistance will increase by a factor of 3
B. The resistance will reduce by a factor of 1/3
C. The resistance will increase by a factor of 9
D. The resistance will reduce by a factor of 6

20- A battery has an internal resistance of 2.3 (2, if this battery is
connected to two resistor (12() and 6(1) connected in parallel, a
current of 1.5 A will flow in the circuit, what is the emf of the
battery?

& a8l e ol aga (1200 and 6£0) crestias 4 jadl cilia s 13 2,3 () Adalall Ltia slia 3 jUay
A Uaall A0 sl Axdlall 3580 an gl (15 A o laa S jeS i 3l

A. 34V
B. 56V
C. 60V
D. 95V
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21- Which of the following is a correct equation that represent the
junction rule in the junction shown in the figure?

¢ ) staall JSAN 8 Tiall il gl lilae e Lasma |t Jiay L Lee 5

A. -it-iz+iz+is=0 .

B. ir+iz+iz-is=0 S Tiz

C. ir+iz-iz+ia=0 ; T %
4

D. it-i2-i3-is=0

22- The junction rule is a direct consequence of ............ ?

O 5 H2e s Al 53018 e

A. Conservation of energy.

B. Conservation of charges,

C. Conservation of potential difference.
D. Conservation of power.

23- Which of the following is a correct statement?

il 8y sinal (g len pady Lad Aaaaa N il all g

A. Ammeter has a very large internal resistance.
B. Voltmeter has a very small internal resistance.
C. Ammeter should be wired in parallel.

D. Voltmeter should be wired in parallel.

24- Which of the following is a correct way fo increase the ammeter
range?

¢ il Slea Gl 3l 3ab 3l A 38 5l Jiay b Lea

A. Connect ammeter in series to large resistance

B. Connect ammeter in parallel to small resistance
C. Connect ammeter in parallel to a small resistance
D. Connect ammeter in series to a large resistance
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25- Use the figure and find Vemt.1? 20 12V
ANA—E — &
Vemf.1 2l skl JE) PRENIY
i=04 A
A 62V 03 S0
B.56V -
C. 48V 2@ —NVVE v'
D 2 3 V 10 emf,1
26- Use the figure and find the current i?
£,=60V
i—\-.Aji)J;\;-d\dSid\em\ _1||+ 7 !
L Il y
A.07A 30 § g 60
B.15A
C. 20A . i | )
D. 60 A 82_= ;3".-"

27- In the RC circuit shown in the figure, the capacitor is initially
uncharged, if the switch is closed what is the charge of the
capacitor at =27 ?

Jie il Aok “J\JE.ALACUQA\&M}ASQ‘QM& ﬁ;ﬁx_}\q.d\@uﬁﬂl“ \QJ%‘M*\‘;AM“ \RCB‘)B\J‘#A:
F=27 daall)

A. 25 % of its maximum charge
B. 50 % of its maximum charge C== 312
C. 63 % of its maximum charge

D. 86 % of its maximum charge H—
v,

emf
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28- In the RC circuit shown in the figure, the capacitor is initially
uncharged, if the switch is closed at which moment the capacitor
will be fully charged?

Sl praars ddasl gl die (L)) 3] 2ay (g sadia e Aplal 8 GRS ()5S (SN 8 Al RC B3 &

(Sl Gl o 33U e H1) JalS JSG U gadia

A. 1=0
B. =051 C =
C. t=71
D. f=oo I3

29- An uncharged capacitor C=15 pC a resistor R=450 () and a
battery V=24 V are connected in series as shown in the figure,
what is the charge on the capacitor at 1=0.02 s after the switch
is closed?

I
A
=~

O s WS 24 V4 )Uay s 450 (D plia e IS ae Ml e Jpasa 15 pC adm g gndia ppe 838
feY) 2y 120,02 s ddaalll A WAl e 50 5a g0 ¢ sSiu Al il 0aS Lo Lkl (3312 ) 2ie (IS4

A. 5.1x10% C “"“

B. 5.4x10" C

C. 4.6x10C "3 N
D. 3.4x10“ C !

il
)

30- In the Wheatstone bridge shown in the figure, if the reading of
ammeter is zero, what is the value of R?

IR Aad & Lo hia i) 3ol B il 1) (JSaN & diaall () gty 5 5 ke

A. 140 0 -

Q
B. 160 N P A
C. 180 O

b (A) d
D. 200 0 \‘\"“" o
QQ
# W
C

Il"'
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31- In the RC circuit shown in the figure, the capacitor is initially
fully charged, if the switch is closed at which moment the
current will be maximum?

O S Adaad gl die (litall (3D aay (JalS S () saia Aglad) 8 KA ()5S S L Ll RC 33l b
905 saail) aiad 85 00l & lall L sl Ll

A. t=0
B. =051 R? -
C. =7
D. t=o0

32- A resistor and a capacitor are connected in series. If a second
identical resistor is connected in series in the same circuit, the
time constant for the circuit will.

s b sl i sl e J s Gildae AT o slie Adlialy i 13) ¢ il e o glie s (S0 Jpa 58 o
....... o g B_ylall 03gd (e )l

A. Decrease.

B. Increase.

C. Stay the same.

D. We can't determine the changes.

33- A 1.00-mF capacitor is fully charged, and a 100.0 (2 resistor is
connected across the capacitor. How long will it tfake to remove
75.0% of the charge stored in the capacitor?

i Aglee a3l e (33 oS <100.0 ) astie ae Jseasa s el () saiia 1.00-mF 4 S
Sl e 45 Al Ladll (5075.0%

A. 139 ms
B. 112 ms
C. 83 ms
D. 29 ms

Best regards ...
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